AN ABSTRACT OF THE THESIS OF

Ts	eng, Ching Wen	for the Master of Science		
in	Biology	presented on	July, 15 th , 1999	
Title: Genetic variability of Esch		ity of Escheric	chia coli O157:H7	

Abstract approved: Sixt S. Cupper

Escherichia coli 0157:H7 is recognized as an important food-borne pathogen, being implicated in over 2,500 deaths worldwide. Various genetic typing methods have been investigated in studying possible outbreak strains, including pulsed-field gel electrophoresis (PFGE), randomly amplified polymorphic DNA (RAPD), and enterobacterial repetitive intergenic consensus polymerase chain reaction (ERIC-PCR). These genetic methods yield information on the genetic diversity of organisms, but make no attempt to identify specific virulence genes. In this study, we present a modified RAPD which targets specific virulence genes under low stringency conditions and also yields information on the diversity of the organism in question. Plasmid profiling, ERIC-I PCR, and RAPD were also used to determine genetic heterogeneity for comparison. Our results indicate the modified RAPD may be a better tool for investigating the genetic relationships of organisms.

A Thesis

Submitted to

the Division of Biological Sciences

Emporia State University

In Partial Fulfillment

of the Requirement of the Degree

Master of Science

Ву

Tseng, Ching Wen

Thesis 1999

Approved by Major Advisor

Approvéd Committee Member

Approved by Committee Member

Approved for Division of Biological Sciences

Approved for the Graduate Council

ACKNOWLEDGMENTS

I would like to thank the members of my committee, Dr. Scott Crupper, Dr. Rodney Sobieski, and Dr. Gaylen Neufeld for their help on my research and in helping me to solve problems during my time at Emporia State University. Also, I would like to thank my fellow graduate students Frank Kuhn, Dorothy Nickless, Toni Patton, and Ngoni Kunonga for their help in my research. A special thanks to my personal friend Misa Inomata who helped me through my studies. Most importantly, I would like to thank Dr. Scott Crupper for his guidance and help in my studies and his support throughout the project. I also want to thank my family for their past few years support while I was pursing this degree.

Preface

This thesis was prepared following the publication style of American Society for Microbiology.

TABLE OF CONTENTS

LIST	OF	F1	IGURES	PAGE viii
LIST	OF	ΤF	ABLES	ix
BACK	GRO	UNE	D REVIEW	1
	I.		Escherichia coli	1
	II	•	Pathogenesis of Escherichia coli 0157:H7	1
			1. Virulence factors	2
			a.) Shiga-like toxins (SLT)	3
			b.) Intimin	4
			c.) Hemolysin	4
			2. Diseases caused by E. coli 0157:H7	5
			3. Clinical Identification	6
	II	I.	Bacterial subtyping	6
			1. Pulsed-field gel electrophoresis	6
			2. Ribotyping	7
			3. Restriction fragment length polymorphism	7
			4. Repetitive sequence based PCR	8
			5. Randomly amplified polymorphic DNA	9
			6. Other PCR approaches	9
			7. Plasmid profile and phagetyping	10
METH	ODS	AN	ND MATERIAL	11
I.		Ba	cterial strains and growth conditions	11
ΙI	•	Ch	romosomal DNA isolation	11

PAGE

	III.	Quantification of DNA	12
	IV.	Plasmid DNA isolation	14
	V.	Polymerase chain reaction	15
	VI.	Agarose gel electrophoresis	16
	VII.	Generation of dendogram	16
RE	SULTS		20
	I.	Characterization of <i>E. coli</i> O157:H7 isolates using <i>stx1</i> and <i>stx2</i> primers	20
	II.	Characterization of <i>E. coli</i> 0157:H7 isolates using <i>hlyA</i> primers	21
	III.	Characterization of <i>E. coli</i> 0157:H7 isolates using <i>eaeA</i> primers	21
	IV.	Characterization of <i>E. coli</i> O157:H7 isolates using ERIC-1 primer	22
	V.	Characterization of <i>E. coli</i> 0157:H7 isolates using RAPD profiles	23
	VI.	Characterization of <i>E. coli</i> 0157:H7 isolates using plasmid profiles	23
DI	SCUSS	ION ·····	44
LI	TERAT	URE CITED	48

LIST OF FIGURES

	_		PAGE
Figure	1.	Characterization of <i>E. coli</i> 0157:H7 isolates using <i>stx1</i> primers	24
Figure	2.	Characterization of <i>E. coli</i> O157:H7 isolates using <i>stx2</i> primers	26
Figure	3.	Characterization of <i>E. coli</i> O157:H7 isolates using <i>hlyA</i> primers	28
Figure	4.	Characterization of <i>E. coli</i> Ol57:H7 isolates using <i>eaeA</i> primers	30
Figure	5.	Characterization of <i>E. coli</i> 0157:H7 isolates using ERIC-1 primers	32
Figure	6.	Characterization of <i>E. coli</i> O157:H7 isolates using 1254 primers	34
Figure	7.	Characterization of <i>E. coli</i> 0157:H7 isolates using 1283 primers	30
Figure	8.	Characterization of <i>E. coli</i> O157:H7 isolates using plasmid`	38

LIST OF TABLES

Table	1.	Growth media and solutions used in this study	1 "
Table	2.	Primers and reaction conditions used in PCR	18
Table	3.	Preparation of agarose gels and electrophoresis conditions	19
Table	4.	Absorbance readings from DNA isolated from <i>E. coli</i> 0157:H7 isolates and ATCC reference strains	4.0
Table	5.	Summary of toxin genes amplification	42

BACKGROUND REVIEW

I. Escherichia coli

Escherichia coli is a gram-negative, rod-shaped organism that belongs to the family Enterobacteriaceae. E. coli strains which cause adult and infant gastroenteritis, can be distinguished into several distinct types. These types include entrohemorrhagic (EHEC), enteropathogenic (EPEC), enterotoxigenic (ETEC), enteroinvasive (EIEC), enteroaggregative (EaggEC), uropathogenic (UPEC), and neonatal meningitis (MNEC) E. coli (26). Surface constituents, such as heat-stable somatic (O) antigens, heat-labile somatic (K) antigens, and heat-labile flagellar (H) antigens, are used to describe the different serotypes of E. coli. Currently, 173 ° antigens, 103 K antigens, and 56 H antigens have been described (24, 26).

II. Pathogenesis of Escherichia coli 0157:H7

Escherichia coli 0157:H7 was first identified as a food-borne pathogen in 1975 and has escalated as a significant pathogen causing morbidity and mortality worldwide (5, 50). Since 1975, approximately thirty major outbreaks have been reported worldwide (13, 14, 19). In the United States, E. coli 0157:H7 infection was first

reported in 1982 in the state of Washington (12, 19). is estimated that *E. coli* 0157:H7 infects approximately 10,000 to 20,000 people worldwide annually, with approximately 250 deaths (13).

Consumption of contaminated undercooked ground beef contributes to 40% of infections; consumption of contaminated raw milk, apple cider, venison jerky, drycured salami, vegetables, salad dressing, water, and person-to-person contact contribute to the majority of the remaining cases (14, 13, 17, 19). Generally, food with pH values lower than 4.6 are considered at low risk for *E. coli* 0157:H7. This organism can however, survive at pH values as low as 2.0 (14, 19). Approximately 0.3% to 2.2% of healthy cattle carry *E. coli* 0157:H7 in their gastrointestinal tract and when shed into feces, it can survive for up to 70 days (12, 17).

1. Virulence factors

Shiga-like toxins (SLT), also known as verotoxin (encoded by *stx*), hemolysin (encoded by *hly*), and intimin (encoded by *eae*) are the major virulence factors that contribute to diseases caused by *E. coli* 0157:H7 (2, 9, 23, 27, 28, 37, 39, 48, 57). *E. coli* 0157:H7 can be distinguished into EHEC, EPEC, and ETEC. These three

groups of *E. coli* O157:H7 share a similar model of pathogenesis, which includes an attaching and effacing lesion (42). If *E. coli* O157:H7 produces SLT, it is characterized as EHEC. ETEC are characterized by no SLT production, whereas EPEC is defined by the production of intimin (42).

a.) Shiga-Like Toxins (SLT)

The 0157:H7 strains that produce shiga-like toxin are the most virulent strains of E. coli. There are two forms of SLT, referred to as SLT-I and SLT-2, with SLT-2 being the most prevalent (5, 19, 22, 23, 25, 27, 37, 39). SLT-1 and SLT-2 are both 68 kDa proteins which are composed of one A subunit (~ 32 kDa), and five B subunits (~ 7.7 kDa) encoded by stx (37). SLT-1 is so named because it is a reacts with shiga toxin produced by Shigella dysenteriae; however, SLT-2 does not cross react (5, 22, 23, 28, 37). SLT inhibits protein synthesis through an enzymatic modification by removing a purine from the 28S RNA which prevents elongation during translation (25, 37). Also, SLT can damage vascular endothelial cells by binding to glycosphingolipid (Gb3) in the plasma membrane, thereby inhibiting the phosphatidylinositol pathway (25, 28, 37, 52).

b.) Intimin

Intimin is a 97 kDa protein encoded by eae, a component of the locus for enterocyte efffacement operon (LEE) (7, 9, 21, 22, 28, 47). Intimin causes polymerization of actin through a localized cytoskeleton rearrangement at the junction where the organism attaches to a cellular surface. This results a cup-like pedestal structure known as an attaching and effacing (A/E) lesion (2, 9, 57). Studies have also indicated intimin might alter the blood barrier and increase the permeability of SLT (37).

c.) Hemolysin

Three different hemolysins, know as α -hemolysin (encoded by *hly* and *ely*), β -hemolysin, and enterohemolysin (encoded by *ehx*) are associated with *E. coli* 0157:H7 (31, 33, 49). The two different α -hemolysins produced by *E. coli* 0157:H7 are related to the RTX family of toxins. RTX toxins are pore-forming proteins that have repeats in their structure (1, 33, 49). The most common α -hemolysin is encoded by *hly*, whereas little is known about the products of *ely* (22, 48). The α -hemolysin encoded by every is part of an operon that encodes five genes (*hlyA*, B, D,

E, and tolC) (10, 31, 48, 49). The gene product of hlyA is a 110 kDa protein that causes lysis of erythrocytes (48, 49). Enterohemolysin, encoded by *ehx*, is strongly associated with the production of SLT in EHEC. It is produced only in the late phase of growth, but its mechanism of action remains to be elucidated (4, 45). β - hemolysin has a similar cytocidal effect as α - hemolysin, but little is known about the mechanism of action of this toxin (4).

2. Diseases caused by E. coli 0157:H7

Various symptoms are associated with *E. coli* O157:H7 infection including diarrhea, bloody diarrhea, vomiting, abdominal cramps, and sometimes no symptoms at all (5, 12, 13, 19, 35). The wide range of symptoms caused by this organism is due to phenotypic variation. For example, patients with EPEC infections usually have no or very mild symptoms; however, infection with EHEC results in more severe symptoms such as acute renal failure, encephalopathy, hemorrhagic colitis (HC), and microangiopathic thrombocytopenic disorders including hemolytic-uremic symptom (HUS) and thrombotic thrombocytopenic purpura (13, 23, 25, 27, 37, 39, 42, 48).

3. Clinical Identification

Sorbitol fermentation tests, including cefiximetellurite sorbital MacConkey agar and sorbitol MacConkey agar, are widely used for identification of *E. coli* 0157:H7 (19). *E. coli* 0157:H7 has no sorbitol fermentation in 24 hour and has a negative 4-methylumbelliferyl-B-Dglucuronide (MUG) test (19). The use of hemorrhagic colitis agar and anti-0157 antibody is also used to confirm the identification of *E. coli* 0157:H7 (17, 19).

III. Bacterial Subtyping

Different methods for bacterial subtyping have been used to identify different strains within species for taxonomic or epidemiological studies. The purpose of subtyping is to distinguish epidemiologically related strains and to show the origination of the strains (6). Ideally, the bacterial subtyping system must be fast, reproducible, highly sensitive, and able to distinguish outbreak strains from non-outbreak strains (6, 32). The three major subtyping systems that are used to distinguish different strains are serotyping, biotyping, and moderul at typing methods. Currently, molecular typing methods are the most commonly used. Numerous molecular typing methods

have been described, including pulsed field gel electrophoresis (PFGE), ribotyping, restriction fragment length polymorphism (RFLP), multilocus enzyme electrophoresis (MLEE), polymerase chain reaction (PCR) based approaches, plasmid profiling, phagetyping, low molecular weight rRNA profiling, and Southern Blot (5, 6, 10, 13, 14, 24, 26, 39, 41, 45, 48, 50, 52). Each has its advantages and limitations.

1. Pulsed-field gel electrophoresis

Pulsed-field gel electrophoresis (PFGE) is considered to be reproducible, highly sensitive, and is widely accepted for epidemiological typing of bacteria (6, 14, 17). Genomic DNA is isolated and digested with a restriction endonuclease. A restriction map is obtained by electrophoresis using a clamped homogeneous electric field with low voltage for a long period of time. DNA banding patterns are compared to determine the relationship between each isolate (28).

2. Ribotyping

Ribotyping analyzes restriction polymorphisms within the ribosomal RNA gene. Isolated bacterial DNA is digested with various endonucleases and DNA fragments separated by electrophoresis. The separated DNA is transferred to a

nylon membrane and hybridized with a probe consisting of the 16S rRNA or 23S rRNA gene fragment (18, 16, 43, 51). The gene sequences of the 16S rRNA and 23S rRNA are species specific and it is possible to differentiate organisms (43). A PCR based ribotyping approach is also available which amplifies 16S rRNA or 23S rRNA genes (15, 18, 55).

3. Restriction fragment length polymorphism

Restriction fragment length polymorphisms (RFLP) are generated once DNA is digested with various restriction endonucleases and separated by electrophesis (13, 15, 4).

Alternatively, this method can be accomplished using a PCR-based approach, designated amplified restriction fragment length polymorphism (AFLP) (15).

4. Repetitive sequence based PCR

Repetitive sequences exist in intergenic regions, polycistronic operons, and untranslated regions in the genome of organisms. Though the functions of these regions are unclear, they appear to play a role in the regulation of transcriptional termination, protein binding, and chromosomal maintenance (32, 38, 44). Repetitive intergenic consensus sequences are highly conserved among gram-negative organisms (8). Different types of PCR that target specific repeating elements have been used to

cluster organisms genotypically (20, 29, 30, 32, 36, 54). Enterobacterial repetitive intergenic consensus sequence PCR (ERIC-PCR) is commonly used in the identification of the *Enterobacteriaceae* family and related phyla (32). This approach targets a 126 base pair repetitive element under high stringency conditions (6, 20, 45).

5. Randomly amplified polymorphic DNA

Randomly amplified polymorphic DNA PCR (RAPD) uses a single, short, arbitrary primer under low stringency conditions to generate strain-specific information (24, 53, 55). With this method, no prior sequence information is required; however, it is compromised by low levels of reproducibility (40, 50, 55). In recent years, RAPDs have been used in the identification, molecular typing and genetic characterization of various organisms, such as Aspergillus fumigatus, E. coli O157:H7, Vibrio vulnifuis, Neagleria fowleri, Blastomycres dermatitidis, Borrelia burgdorferi, and Neisseria meningitis (1, 7, 24, 12, 14, 23, 48, 50, 55).

6. Other PCR approaches

Many distinct PCR based methods have found their utility in the identification and genetic characterization of organisms. Some of the most popular methodologies

include amplified rDNA restriction analysis (ARDRA), multiplex PCR, polymorphic G-C rich repetitive PCR, and ribosomal intergenic spacer sequence PCR amplification (6, 13, 15, 39, 41, 48).

7. Plasmid profile and phagetyping

Plasmids of bacteria are isolated and analyzed by agarose gel electrophoresis to determine the sizes present, thereby producing information on genetic heterogeneity (34). Phagetyping can also be useful to determine genetic variation and tests the susceptibility of the organism in question to a bacteriophage or bacteriocin (34).

METHODS AND MATERIALS

I. Bacterial strains and growth conditions

Fifty-seven Escherichia coli O157:H7 strains, isolated from beef feed yards in southwest Kansas, were obtained from the Food Animal Health and Management Center, correge of Veterinary Medicine, Kansas State University, Manhattan, Kansas. As reference strains, E. coli 0157:H7 SLT-I and SLT-II negative (ATCC 43888), SLT-I and SLT-II positive (ATCC 43894), SLT-I positive only (ATCC 43890), and SLT-II positive only (ATCC 43889), were obtained from the American Type Culture Collection (Manassas, VA). All E. coli O157:H7 strains were routinely propagated in Brain Heart Infusion (BHI) media or on agar plates at 37 C. A transmission quide of media components and solutions used in this study are shown in Table 1. Chemicals were obtained from either Fisher Scientific (St. Louis, MO) or Sigma (St. Louis, MO). II. Chromosomal DNA isolation

Chromosomal DNA was isolated using a modification of an established method (47). Bacterial cultures were inoculated into 6 mL of BHI broth contained in 20 mL test tubes and grown approximately 18 hours at 37°C with shaking at 250 rpm in a New Brunswick series 25 incubator shaker (Edison, NJ). Cultures were placed into 15 mL conical

centrifuge tubes and cells harvested by centrifugation at 4,000 rpm for 5 min in a model GLC-1 Sorvall tabletop centrifuge (Newtown, CT). The supernatant was discarded and cells resuspended in 2 mL of Tris-EDTA (TE) buffer. One hundred microliters of 20% sodium dodecyl sulfate (SDS) was added, and the solution gently mixed by inversion. After incubation at 60°C for 15 min, 20 μ L of RNase (10 mg/mL) was added and the solution incubated at $37^{\circ}C$ for 20 min. Contaminating proteins were digested upon addition of 15 μ L proteinase K (10 mg/mL) and subsequent incubation at 60°C for 1 hour. Phenol extraction was performed by adding 2 mL of equilibrated phenol to the cellular lysate and the solution mixed by inversion gently for 2 min. After centrifugation at 4,000 rpm for 5 min, the aqueous phase was transferred into a clean 15 mL conical tube. Additional phenol and chloroform/isoamyl alcohol (24:1) extractions were repeated as described above. The aqueous phase, after the final extraction, was transferred into a clean 15 mL conical centrifuge tube and 10 mL of ice-cold 95% ethanol was added. The solution was incubated at -20° C for 10 min to precipitate chromosomal DNA. Precipitated DNA was removed using a glass Pasteur pipette and

transferred into a 1.5 mL microcentrifuge tube. After drying in a Savant Vacuum model IS550 speed dryer (Holbrook, NY) for 2 to 5 min at high setting, the DNA was resuspended in 200 μ L of TE buffer. Analysis of the DNA solution was performed at 260 and 280 nm to determine the DNA concentration and purity. DNA solutions were stored at 4°C until needed.

III. Quantification of DNA

DNA concentration was determined using a Beckman model DU 530 spectrophotometer (Palo Alto, CA). For analysis, DNA containing solutions were diluted 200 fold with sterilized TE buffer. One milliliter of the diluted DNA solution was placed in a 1 mL quartz cuvette and the absorbance measured at 260 and 280 nm. The concentration of DNA solutions was calculated using the following equation (47):

DNA concentration (μ g/mL) = 260 nm reading × dilution

factor \times 50 $\mu\text{g/mL}$

DNA Purity = Ratio of 260/ 280 nm reading

IV. Plasmid DNA isolation

Plasmid DNA isolation was performed using a modification of an established method (47). Three milliliter bacterial cultures were grown approximately 18 hours in LB containing the appropriate antibiotic at 37°C with shaking at 250 rpm. Half of the culture was placed in a 1.5 mL microcentrifuge tube and cells collected by centrifugation at 13,000 rpm for 30 seconds. The supernatant was discarded, the remaining culture added, and the process of centrifugation repeated. Ceils were resuspended in 200 $\mu \rm L$ of solution I. Cell lysis was accomplished upon addition of 200 μ L of solution II, followed by incubation at room temperature for 5 to 10 min. One hundred and fifty microliters of solution III was added and the solution mixed gently by inversion. After incubation on ice for 10 min, centrifugation at 13,000 rpm for 10 min was performed. The supernatant was transferred to a clean 1.5 mL microcentrifuge tube, and 10 μL of RNase (10 mg/mL) added. After incubation at room temperature for 10 min, 500 µL of 1.6 M NaCl-13% polyethylene glycol after was added to precipitate plasmid DNA. Precipitated plasmid DNA was collected by centrifugation at 13,000 rpm for

10 min, and resuspended in 400 μ L TE buffer. One phenol and one chloroform/isoamyl alcohol extraction were performed as described for chromosomal DNA isolation. Plasmid DNA was precipitated upon addition of 1 mL of 95% ethanol and collected by centrifugation at 13,000 rpm. Isolated plasmid DNA was resuspended in 20 μ L of TE buffer, quantified as described above, and stored at 4°C. V. Polymerase Chain Reaction

Amplification of DNA was carried out by the polymerase chain reaction (PCR) using a model PT150 Minicycler (MJ Research Inc. Watertown, MA). All reactions contained template DNA (500 ng) and 100 nmol of each primer in a reaction buffer consisting of 10 mM Tris (pH 8.3), 50 mM KCl, 1.5 mM MgCl₂, 0.2 mM of each deoxynucleotide triphosphate (dNTPs), and 1 U of Taq polymerase in a final volume of 100 μ L. A typical amplification consisted of an initial denaturation step at 94°C for 5 min, followed by 30 cycles of DNA denaturaion at 94°C for 1 min, annealing (time and temperature variable), and elongation at 72°C (time variable). Specific primers used and PCR conditions are listed in Table 2.

VI. Agarose gel electrophoresis

Agarose gel electrophoresis was used to separate DNA fragments according to size (47). Tris-Acetate-EDTA (TAE) was the buffer system used in preparing the gel and running buffer. A guide to preparing the various sized gels is shown in Table 3. Agarose gels were analyzed with a model FBTIV-88 UV transilluminator (Fisher Scientific) at 254 nm and documented by an Ultra-Lum Panasonic model CCD CAMERA photodocumentation system (Paramount, CA).

VII. Generation of Dendogram

Agarose gels were analyzed visually and each isolate was scored in terms of its unique banding pattern. Data were transferred into binary code using Microsoft EXCEL. Binary data were analyzed by SPSS Windows release 8.0.0 to perform the Euclidean distance coefficient test. Based on the Euclidean distance coefficient, the unweighted pair group method average (UPGMA) was used to generate the dendogram.

Name	Ingredients
Luria-Bertani (1L)	10 g NaCl 5 g Yeast Extract (Difco) 10 g Tryptone (Difco)
BHI (1L)	37 g BHI media (Difco)
TE buffer (pH 8.0)	10 mM Tris 1mM EDTA
Solution I	50 mM Sucrose 25 mM Tris 10 mM EDTA
Solution II	0.2 N NaOH 1% SDS
Solution III (100 mL)	3 M Potassium acetate 11.5 mL Acetic acid
CaCl ₂ media	0.1 M CaCl ₂ 0.1 M MnCl ₂ 0.04 M Sodium acetate
50x TAE buffer	242 g Tris Galacial acetic acid 57.1 mL 0.5 M EDTA 4 mL Added water to 1L
1x TAE buffer (1L)	20 mL 50x TAE buffer

Primer	Primer sequence 5'-3'	Size of product (bps)	Conditions
stx I	Forward: ATAAATCGCGCAACAAGAGG Reverse: GGCACGCCCACTGAGATCATC	180	94 °C 1 min 57 °C 2 min 72 °C 30 sec
stx II	Forward: GGCACTGTCTGAAACTGCTCC Reverse: TCGCCAGTTATCTGACATTCTG	255	94 °C 1 min 55 °C 2 min 72 °C 30 sec
eaeA	Forward: GACCCGGCACAAGCATAAGC Reverse: CCACCTGCAGCAACAAGAGG	384	94 °C 1 min 55 °C 2 min 72 °C 30 sec
hlyA	Forward: GCATCATCAAGCGTACGTTCC Reverse: AATGAGCCAAGCTGGTTAAGG	650	94 °C 1 min 55 °C 2 min 72 °C 30 sec
ERIC-I	GTGAATCCCCAGGAGCTTACAT	Variable	94 °C 1 min 52 °C 2 min 72 °C 2min
1283	GCGATCCCCA	Variable	94 °C 1 min 55 °C 1 min 72 °C 30 sec
1254	CCGCAGCCAA	Variable	94 °C 1 min 55 °C 1 min 72 °C 30 sec

Table 2. Primers and reaction conditions used in PCR

Table 3. Preparation of agarose gels and electrophoresis conditions

Types of gel	Ingredients	Running conditions
0.7 % 30 mL gel	30 mL of 1xTAE buffer 0.21 gram Agarose 1 μ L 10 mg/mL Ethidium bromide	Voltage: 95 V Time: 1.5 hr Running buffer: 250 mL TAE buffer
1.5 % 30 mL gel	30 mL 1x TAE buffer 0.45 g Agarose 1 μL 10 mg/mL Ethidium bromide	Voltage: 95 V Time: 1.5 hr Running buffer: 250 mL TAE buffer
0.7 % 150 mL gel	150 mL 1x TAE buffer 1.05 g Agarose 5 μL 10 mg/mL Ethidium bromide	Voltage: 115 V Time: 1.5 hr Running buffer: 1.75 L TAE buffer
1.5 % 200 mL gel	200 mL 1x TAE buffer 3 g Agarose 6 µL 10 mg/mL Ethidium bromide	Voltage: 115 V Time: 1.5 hr Running buffer: 1.75 L TAE buffer

RESULTS

Total DNA from 57 E. coli 0157:H7 isolates and E. coli 0157:H7 reference strains were isolated. The conversion of the isolated DNA were determined by measuring the absorbance at 260 and 280 nm. The results are listed in Table 4. Each sample was standardized to 10 μ g/mL for use in PCR. All isolates were tested for the existence of virulence genes and the results listed in Table 5.

I. Characterization of E. coli 0157:H7 isolates using stx1 and stx2 primers

Primers designed to target the SLT genes were used to identify the genes and determine genetic variation. The stx1 primer pair (Table 2) was designed to amplify a ... base pair (bp) region within the A subunit of SLT-1. When primers were annealed at 57°C to template DNA, 34 out of the 57 isolates, representing 57.89% of the sample population, were positive for stx1 (Figure 1A). A total of 171 bands and 17 unique banding patterns was observed after agarose gel electrophoresis. These results were transferred into binary code to determine distance coefficients. Based on the calculated distance coefficients and UPGMA, a dendogram was generated (Figure 1B). A total of 34 different groups

with unique amplification patterns was observed. On the contrary, primer *stx2* (Table 2) designed to amplify a 255 bp fragment within the A subunit of SLT-2, amplified this fragment in 38 out of the 57 *E. coli* O157:H7 isolates (64.91%), test results are listed in Table 5. A total of 112 bands and 14 unique banding patterns was observed after agarose gel electrophoresis (Figure 2A). Dendogram analysis yielded 14 genotypic patterns (Figure 2B).

II. Characterization of E. coli 0157:H7 isolates using hlyA primers

Oligonucleotides targeted at *hlyA* were used to identify a 534 bp fragment of *hly* and determine the genetic variability of the *E. coli* 0157:H7 isolates. Primers based on *hlyA* (Table 2) were annealed at 55°C, and 24 of the 57 *E. coli* 0157:H7 isolates (Table 5), representing 42.11% of the sample population, were positive for the 534 bp paneles determined by agarose gel electrophoresis (Figure 3A). A total of 58 bands and 8 unique banding patterns was observed. Dendogram analysis based on these data revealed 15 groups (Figure 3B).

Primers targeted at *eaeA* (Table 2) were used to identify a 384 bp internal fragment of the *eaeA* gene and generate genotypic information on the 57 *E. coli* 0157:H7 isolates. Twenty-six out of 57 samples (45.61%) were positive for the expected 384 bp band as determined by agarose gel electrophoresis (Figure 4A). A total of 226 bands and 9 unique banding patterns was analyzed to generate the dendogram profile shown in Figure 4B. Based on dendogram analysis, 25 groups were revealed.

IV. Characterization of E. coli 0157:H7 isolates using ERIC-1 primer

A primer designed to target enterobacterial repetitive intergenic consensus sequences was used in a PCR. The sequence of this primer is shown in Table 2. Agarose gel electrophoresis revealed a total the 153 bands and 17 unique banding patterns (Figure 5A), resulting in 22 groups based on dendogram analysis (Figure 5B).

22.

V. Characterization of E. coli O157:H7 isolates using RAPD profiles

Two arbitrary primers, designated 1254 and 1283 (Table 2), were used in RAPD analysis of the 57 *E. coli* 0157:H7 isolates. Primer 1254 generated 394 bands and 27 unique banding patterns as determined by agarose gel electrophoresis (Figure 6A), whereas primer 1283 yielded 448 bands and 30 unique banding patterns (Figure 7A). Dendogram profiles were generated using these data. Primer 1254 yielded 46 genotypic groups (Figure 6B), whereas primer 1283 yielded 46 groupings (Figure 7B).

VI. Characterization of *E. coli* Ol57:H7 isolates using plasmid profiles

Plasmids from the 57 *E. coli* O157:H7 isolates were isolated and analyzed by agarose gel electrophoresis (Figure 8A). A total of 153 bands and 10 unique banding patterns were observed. Dendogram analysis revealed 19 groups (Figure 8B).

Fig. 1. Characterization of E. coli 0157:H7 isolates using stx1 primers. (A) 1.5% agarose gel of amplified reaction mixtures. Lane M1 and M2: DNA markers; Lane 1 to 57: E. coli 0157:H7 feedyard isolates; Lane 58, E. coil 0157:H7 ATCC 43888; Lane 59: E. coli 0157:H7 ATCC 43894. The arrow indicates the 180 bp stx1 amplification product. A total of 171 bands and 17 unique banding patterns was observed after agarose gel electrophoresis. (B) Dendogram of E. coli 0157:H7 isolates and ATCC reference strains. Dendogram analysis yielded 34 genotypic patterns. The groupings are designated A to AH.





Fig. 2. Characterization of E. coli O157:H7 isolates using stx2 primers. (A) 1.5% agarose gel of amplified reaction mixtures. Lane M1 and M2: DNA markers; Lane 1 to 57: E. coli O157:H7 isolates; Lane 58, E. coil O157:H7 ATCC 43888; Lane 59: E. coli O157:H7 ATCC 43894. The arrow indicates the 255 bp stx2 amplification product. A total of 112 bands and 14 unique banding patterns was observed after agarose gel electrophoresis. (B) Dendogram of E. coli O157:H7 isolates and ATCC reference strains. Dendogram analysis yielded 14 genotypic patterns. The groupings are designated A to N.


Fig. 3. Characterization of E. coli 0157:H7 isolates using hlyA primers. (A) 1.5% agarose gel of amplified reaction mixtures. Lane M1 and M2: DNA markers; Lane 1 to 57: E. coli 0157:H7 isolates; Lane 58, E. coli 0157:H7 ATCC 43888; Lane 59:
E. coli 0157:H7 ATCC 43889; Lane 60:
E. coli 0157:H7 ATCC 43894, Lane 61,
E. coli 0157:H7 ATCC 43890. The arrow indicates 650 bp hlyA amplification product. A total of 58 bands and 8 unique banding patterns was observed.
(B) Dendogram of E. coli 0157:H7 isolates and ATCC reference strains. Dendogram analysis yielded 15 genotypic patterns. The groupings are designated A to 0.



Fig. 4. Characterization of E. coli O157:H7 isolates using eaeA primers. (A) 1.5% agarose gel of amplified reaction mixtures. Lane M1 and M2: DNA markers; Lane 1 to 57: E. coli O157:H7 isolates; Lane 58, E. coil C157:H7 ATCC 43888; Lane 59: E. coli O157:H7 ATCC 43889; Lane 60: E. coli O157:H7 ATCC 43894, Lane 61: E. coli O157:H7 ATCC 43890. The arrow indicates the 354 bp eaeA amplification product. A total of 226 bands and 9 unique banding patterns was observed. (B) Dendogram of E. coli C157:H7 isolates and ATCC reference strains. Dendogram analysis yielded 25 genotypic patterns. The groupings are designated A to Y.





Fig. 5. Characterization of E. coli 0157:H7 isolates using ERIC-1 primers. (A) 1.5% agarose gel of amplified reaction mixtures. Lane M1 and M2: DNA markers; Lane 1 to 57: E. coli 0157:H7 isolates; Lane 58: E. coil 0157:H7 ATCC 43888; Lane 59: E. coli 0157:H7 ATCC 43889; Lane 60: E. coli 0157:H7 ATCC 43894, Lane 61: E. coli 0157:H7 ATCC 43890. Agarose gel electrophoresis revealed a total the 153 bands and 17 unique banding patterns. (B) Dendogram of E. coli 0157:H7 isolates and ATCC reference strains. Dendogram analysis yielded 22 genotypic patterns. The groupings are designated A to V.



3 <

Fig. 6. Characterization of E. coli O157:H7 isolates using 1254 primers. (A) 1.5% agarose gel of amplified reaction mixtures. Lane M1 and M2: DNA markers; Lane 1 to 57: E. coli O157:H7 isolates; Lane 58, E. coil O157:H7 ATCC 43888; Lane 59: E. coli 0157:H7 ATCC 43889; Lane 60: E. coli O157:H7 ATCC 43894; Lane 61: E. coli O157:H7 ATCC 43890. A total of 394 bands and 27 unique banding patterns was determined by agarose gel electrophoresis. (B) Dendogram of the E. coli O157:H7 isolates and ATCC reference strains. Dendogram analysis yielded 46 genotypic patterns. The groupings are designated A to AT.



Fig. 7. Characterization of E. coli O157:H7 isolates using 1283 primers. (A) 1.5% agarose gel of amplified reaction mixtures. Lane M1 and M2: DNA markers; Lane 1 to 57: E. coli O157:H7 isolates; Lane 58, E. coil O157:H7 ATCC 43888; Lane 59: E. coli O157:H7 ATCC 43889; Lane 60: E. coli O157:H7 ATCC 43894; Lane 61: E. coli O157:H7 ATCC 43890. Agarose gel electrophoresis yielded 448 bands and 30 unique banding patterns. (B) Dendogram of the E. coli O157:H7 isolates and ATCC reference strains. Dendogram analysis yielded 46 genotypic patterns. The groupings are designated A to AT.



(B)



Fig. 8. Characterization of E. coli 0157:H7 isolates using plasmid. (A) 0.7% agarose gel of plasmid profiles. Lane M1 and M2, DNA markers; Lane 1 to 57: E. coli 0157:H7 isolates; Lane 58, E. coli 0157:H7 ATCC 43888; Lane 59: E. coli 0157:H7 ATCC 43889; Lane 60: E. coli 0157:H7 ATCC 43894; Lane 61: E. coli 0157:H7 ATCC 43890. A total of 153 bands and 10 unique banding patterns were observed. (B) Dendogram of E. coli 0157:H7 isolates and ATCC reference strains. Dendogram analysis yielded 19 genotypic patterns. The groupings are designated A to S.



6ε

***************************************				Concentration
Strain Number	260 nm	280 nm	Ratio	(mg/mL)
1	0.041	0.031	1.308	0.41
2	0.014	0.006	2.358	0.14
3	0.114	0.034	3.332	1.14
4	0.146	0.063	2.304	1.46
5	0.120	0.033	3.609	1.20
6	0.286	0.169	1.694	2.86
7	0.561	0.365	1.538	5.61
8	0.616	0.385	1.601	6.16
9	0.773	0.507	1.526	7.73
10	0.808	0.539	1.498	8.08
11	0.207	0.095	2.186	2.07
12	0.212	0.130	1.630	2.12
13	0.334	0.153	2.191	3.34
14	0.416	0.198	2.102	4.16
15	0.323	0.196	1.640	3.23
16	0.549	0.352	1.560	5.49
17	0.479	0.281	1.706	4.79
18	0.601	0.354	1.698	6.01
19	0.534	0.304	1.753	5.34
20	0.414	0.256	1.621	4.14
21	0.329	0.154	2.134	3.29
22	0.314	0.169	1.856	3.14
23	0.330	0.154	2.148	3.30
24	0.390	0.177	2.202	3.90
25	0.354	0.208	1.703	3.54
26	0.304	0.191	1.593	3.04
27	0.625	0.379	1.648	6.25
28	0.396	0.245	1.616	3.96
29	0.595	0.318	1.872	5.95
30	0.325	0.176	1.845	3.25
31	0.315	0.159	1.982	3.15
32	0.398	0.215	1.855	3.98
33	0.268	0.135	1.975	2.68
34	0.196	0.084	2.341	1.96
35	0.561	0.342	1.641	5.61

Table 4. Absorbance readings from DNA isolated from *E. coli* O157:H7 isolates and ATCC reference strains

Strain				Concentration
Number	260 nm	280 nm	Ratio	(mg/mL)
36	0.864	0.575	1.503	8.64
37	0.424	0.241	1.76	4.24
38	0.531	0.308	1.725	5.31
39	0.454	0.274	1.658	4.54
40	0.720	0.455	1.583	7.20
41	0.484	0.246	1.965	4.84
42	0.595	0.317	1.878	5.95
43	0.302	0.140	2.158	3.02
44	0.217	0.093	2.332	2.17
45	0.759	0.404	1.566	7.59
46	0.663	0.421	1.574	6.63
47	0.894	0.611	1.462	8.94
48	0.678	0.381	1.779	6.78
49	0.332	0.196	1.646	3.32
50	0.833	0.516	1.616	8.33
51	0.372	0.191	1.950	3.72
52	0.178	0.102	1.749	1.78
53	0.284	0.126	2.264	2.84
54	0.185	0.077	2.410	1.85
55	0.564	0.345	1.633	5.64
56	0.601	0.405	1.483	6.01
57	0.047	0.009	5.177	0.47
ATCC 43888	0.727	0.388	1.871	7.27
ATCC 43896	0.923	0.665	1.389	9.23
ATCC 43889	0.799	0.535	1.493	7.99
ATCC 43894	1.086	0.784	1.385	10.9
ATCC 43890	0.598	0.345	1.733	5.98

Table 4. Absorbance readings from DNA isolated from *E. coli* 0157:H7 isolates and ATCC reference strains (Continued).

Strain		Toxin	genes	********
Number	stx1	stx2	eaeA	hlyA
1	+	+	+	+
2	_	+	+	+
3	_	+	+	+
4	+	+	+	+
5	+	+	+	+
6	+	+	+	+
7	+	+	+	+
8	+		-	+
9	_	-	-	—
10	+	_	-	_
11	+	+	+	+
12	+	+	+	+
13	-	+	-	-
14	-	+	-	
15		-	-	_
16	+	+	-	_
17	+	+	+	+
18	-	+	-	—
19	-	+	+	+
20	+	+	+	+
21	+	+	-	+
22	+	+	+	+
23	+	+	-	—
24	_	+	_	_
25	-	+	+	+
26	+	+	+	+
27	_	+	-	-
28	_	+	+	+
29	_	-	-	_
30	+		<u> </u>	_

Strain _	Toxin Genes				
Number	stx1	stx2	eaeA	hlyA	
31	+	+	_	-	
32	_	-	-	-	
33	+	+	-		
34	+	+	-	-	
35	+	+	+	—	
36	+	+	+	-	
37	+	+	+	+	
38	+	+	+	-	
39	+	+	+	+	
40	+	-	_	_	
41	+	+	+	_	
42	+	-	+	-	
43	+	+	-	+	
44	+		-	_	
45	+	-		-	
46	+	-		-	
47	+	-	-	-	
48	-		-	-	
49	-	+	-	+	
50	-	-	-	_	
51	_	-	+	_	
52	-	+	+		
53		-	-	+	
54	_	-	+	+	
55	_	-	-	-	
56	_	_	_		
57	_	-	-	_	

DISCUSSION

In epidemiological studies, it is important to trace the origin of outbreak strains and to keep a constant surveillance of potential outbreak strains. Epidemiological typing systems must be rapid and accurate if they are going to be useful in identifying organisms. Various typing methods have found utility in epidemiological studies, such as antimicrobial susceptibility testing, biotyping, serotyping, phagetyping, pulsed-field gel electrophoresis (PFGE), immunoblotting, ribotyping, plasmid profiling, and various PCR based approaches (15, 21, 36, 40, 46, 53).

E. coli O157:H7 has currently attracted worldwide attention because morbidity and mortality associated with this organism are rapidly increasing (5). Identification of this organism through PCR based approaches is generally accomplished by amplification of specific virulence genes (1, 26, 39, 45). The use of randomly amplified polymorphic DNA (RAPD) in genetic fingerprinting has increased in epidemiological studies in a variety of organisms due to its ability to yield fast results (11, 36, 38, 40, 53). However, due to lack of reproducibility, RAPDs have been the subject of much criticism. The purpose of this

research was to develop a modified RAPD approach which is able to identify specific virulence genes for identification purposes and provide genotypic information on *E. coli* 0157:H7 in a single reaction. The results of this modified PCR based approach were also compared to conventional techniques used in epidemiological studies, such as plasmid profiling, ERIC-1 PCR, and conventional RAPDs.

Two arbitrary primers were used to determine genetic variation among the isolates in a conventional RAPD. The primers, designated 1254 and 1283, have been used in numerous studies to investigate genetic heterogeneity and distinguish serotypes within E. coli (38, 42, 57). Primer 1254 generated 46 unique groups whereas primer 1283 discriminated 46 groups. This approach, while useful in terms of examining genetic variation, makes no attempt to identify specific virulence genes. In development of the modified RAPD approach, it was first determined if specific virulence genes could be amplified. Table 5 summarizes the existence of the virulence genes tested. Overall, 13 isolates (22.8%) were positive for all of the virulence genes tested (stx1, stx2, hlyA, and eaeA). Decreasing the annealing temperature by 2°C for each reaction increased the

non-specific binding of the primers without losing the ability to specifically amplify the virulence gene in question. Thus, we were able to generate information on genetic variation and identify a specific virulence gene in a single reaction.

ERIC-1 PCR is the most widely used method in strain identification among the family *Enterobacteriaceae* and related organisms since it targets a specific repetitive element which exists only in the family *Enterobacteriaceae* (6, 51). Amplifying this element supplies strain specific information under high stringency conditions. In comparing ERIC-1 PCR to the modified PCR approach, genotypic information was gained from ERIC-1 PCR results but ERIC-1 PCR does not identify specific virulence genes.

E. coli O157:H7 strains have a large number of conjugative plasmids (34). However, they tend to lose their plasmids when there is no environmental pressure causing them to be maintained (34). Examining plasmid profiles of different strains yields information on genetic variation. Results gained from plasmid profiling of *E. coli* O157:H7 strains generated 17 groups. Thus, plasmid profiling was less discriminatory as compared to ERIC-1 PCR, RAPDs, and our modified method.

Comparing the discriminatory power of the presented methodologies, RAPDs were shown to have the highest resolution in demostrating genetic variation. However, RAPDs and ERIC-1 PCR were only able to yield information on the genetic relationship between each isolate, can could not amplify specific virulence genes. With the modified RAPD approach, the existence of a specific virulence gene and the genetic relationship among isolates were obtained in a single reaction.

The methodology presented herein may be useful for management of cattle feedyards by providing a method to investigate the geographic distribution of pathogenic strains of bacteria and serve as an identification tool. For future studies, a comparison of how plasmid profiles and genetic fingerprinting relate to antibiotic resistance would be interesting. A detailed investigation of phagetyping would also be useful to yield insight on the transmission of SLT genes and to acquire evolutionary patterns among the *Enterobacteriaceae* family.

LITERATURE CITED

- 1. Adu-Bobie, J., G. Frankel, C. Bain, A. G. Goncalves, L. R. Trabulsi, G. Douce, S. Knutton, and G. Dougan. 1998. Detection of Intimins α , β , γ , and δ , four intimin derivatives expressed by attaching and effacing microbial pathogens. J. Clin. Microbiol. **36**:662-668.
- 2. Bain, C., R. Keller, G. K. Collington, L. R. Trabulsi, and S. Knutton. 1998. Increased levels of intracellular calcium are not required for the formation of attaching and effacing lesions by enteropathogenic and enterohemorrhagic *Escherichia coli*. Infect. Immun. 66:3900-3908.
- 3. Bart, A., I. G. A. Schuurman, M. Achtman, D. A. Caugant, J. Dankert, and A. van der Ende. 1998. Randomly amplified polymorphic DNA genotyping of srogroup a meningococci yields results similar to those obtained by multilocus enzyme electrophoresis and reveals new genotypes. J. Clin. Microbiol. 36:1746-1749.

- 4. Bauer, M. E. and R. A. Welch. 1996. Association of RTX toxins with erythrocytes. Infect. Immun. 64:4665-4672.
- 5. Bell, Beth, P. Patricia, M. Griffin, P. Lozano, D. L. Christie, J. M. Kobayashi, and P. I. Tarr. 1997. Predictors of hemolytic uremic syndrome in children during a large outbreak of *Escherichia coli* 0157:H7 infections. Pediatrics. 100:e12.
- 6. Beyer, W., F. M. Mukendi, P. Kimmig, and R. Böhm. 1998. Suitability of repetitive-DNA-sequence-based PCR fingerprinting for characterizing epidemic isolates of *Salmonella enterica* serovar saintpaul. J. Clin. Microbiol. 36:1549-1554.
- 7. Bielaszewska, M., H. Schmidt, M. A. Karmali, R. Khakhria, J. Janda, and H. Karch. 1998. Isolation and characterization of sorbitol-fermenting shiga toxin (verocytotoxin) - producing *Escherichia coli* 0157:H7 strains in the Czech Republic. J. Clin. Microbiol. 36:2135-2137.
- 8. Bilge, S. S., J. C. Vary, Jr., S. F. Dowell, and P. I. Tarr. 1996. Role of the *Escherichia coli* 0157:H7 O side chain in adherence and analysis of an *rfb* locus. Infect. Immun. 64:4795-4801.

- 9. Boerlin, P., S. Chen, J. K. Colbourne, R. Johnson, S. De Grandis, and C. Gyles. 1998. Evolution of enterohemorrhagic *Escherichia coli* hemolysin plasmids and the locus for enterocyte effacement in shiga toxin-producing *E. coli*. Infect. Immun. 66:2553-2561.
- 10. Brandt, M. E., A. A. Padhye, L.d W. Mayer, and B. P. Holloway. 1998. Utility of random amplified polymorphic DNA PCR and TaqMan automated detection in molecular identification of Aspergillus fumigatus. J. Clin. Microbiol. 36:2057-2062.
- 11. Braun, M., P. Kuhnert, J. Nicolet, A. P. Burnens, J. Frey. 1999. Cloning and characterization of two bistructural S-layer-RTX proteins from *Campylobacter rectus*. J. Bacteriol. **181**:2501-6.
- 12. Calcagno, A. M., G. Niño-Vega, F. San-Blas, and G. San-Blas. 1998. Geographic discrimination of *Paracoccidioides brasiliensis* strains by randomly amplified polymorphic DNA analysis. J. Clin. Microbiol. 36:1733-1736.
- 13. Centers for Disease Control and Prevention. 199%. Nationwide surveys by the Food Marketing Institute. Emerg. Infect. Dis. 4:347-351.

14. Centers for Disease Control and Prevention. 1995.

Escherichia coli 0157:H7 outbreak linked to commercially distributed dry-curd salami-Washington and California. Morb. and Mort. Weekly Rep. **44**:157-160.

- 15. Chazalet, V., J. Debeaupuis, J. Sarfati, J. Lortholary, P. Ribaud, P. Shah, M. Cornet, H. Vu Thien, E. Gluckman, G. Brücker, and J. Latgé. 1998. Molecular typing of environmental and patient isolates of Aspergillus fumigatus from various hospital settings. J. Clin. Microbiol. 36:1494-1500.
- 16. Cousins, D., S. Williams, E. Liébana, A. Aranaz, A. Bunschoten, J. van Embden, and T. Ellis. 1998. Evaluation of four DNA typing techniques in epidemiological investigations of bovine tuberculosis J. Clin. Microbiol. 36:168-178.
- 17. Cray, W. C. Jr., T. A. Casey, and B. T. Bosworth. 1998. Rasmussen effect of dietary stress on fecal shedding of *Escherichia coli* 0157:H7 in calves. Appl. Envir. Microbiol. 64:1975-1979.

- 18. Dabo, S. M., B. M. Debey, M. Montelongo, A. W. Confer. 1999. Genomic DNA restriction site heterogeneity in bovine *Pasturella multocida* serogroup a isolates detected with an rRNA probe. J. Med. Microbiol. 48:279-286.
- 19. Feng, P. 1995. Escherichia coli serotype 0157:H7: novel vehicles of infection and emergence of phenotypic variants. Emerg. Infect. Dis. 1:47-52.
- 20. Georghiou, P. R., A. M. Doggett, M. A. Kielhofner, J. E. Stout, D. A. Watson, J. R. Lupski, and R.J. Hamill. 1994. Molecular fingerprinting of *Legionella* species by repetitive element PCR. J. Clin. Microbiol. 32:2989-2994.
- 21. Gruner, E. M. Flepp, U. Gabathuler, K. L. Thong, M. Altwegg. 1997. Outbreak of typhoid fever in a nonendemic area: comparison of three molecular typing methods. J. Microbiol. Method. 28:179-185.
- 22. Gunzer, F., U. Bohn, S. Fuchs, I.e Mühldorfer, J. Hacker, S. Tzipori, and A. Donohue-Rolfe. 1998. Construction and characterization of an isogenic *slt-ii* deletion mutant of enterohemorrhagic *Escherichia coli*. Infect. Immun. 66:2337-2341.

- 23. Heuvelink, A. E., F. L. A. M. van den Biggelaar, E. de Boer, R. G. Herbes, W. J. G. Melchers, J. H. J. Huis In 't Veld, and L. A. H. Monnens. 1998. Isolation and characterization of verocytotoxin- producing *Escherichia coli* 0157 strains from dutch cattle and sheep. J. Clin. Microbiol. 36:878-882.
- 24. **Jay**, **J**. **M**. 1992. Modern food microbiology. 4th edition. An AVI Book. New York, US.
- 25. Karpman, D., A. Håkansson, M. R. Perez, C. Isaksson, E. Carlemalm, A. Caprioli, and C. Svanborg. 1998. Apoptosis of renal cortical cells in the hemolyticuremic syndrome: *in vivo* and *in vitro* studies. Infect. Immun. 66:636-644.
- 26. Khakhria, R., M. Mulvey, R. Ahmed, D. Woodward and W. Johnson. 1997. Characterization of Escherichia coli 0157:H7 by phagetyping Bureau of microbiology, LCDC, Ottawa, Ontario, Canada. In abstracts of the 3rd International symposium and Workshop on shiga toxin (verocytotoxin) producing Escherichia coli Infections.

- 27. Kurioka, T., Y. Yunou, and E. Kita. 1998. Enhancement of susceptibility to shiga toxin-producing *Escherichia coli* 0157:H7 by protein calorie malnutrition in mice. Infect. Immun. 66:1726-1734.
- 28. Lehmacher, A., H. Meier, S. Aleksic, and J. Bockemuhl. 1998. Detection of hemolysin variants of shiga toxinproducing *Escherichia coli* by PCR and culture on vancomycin-cefixime-cefsulodin blood agar. Appl. Environ. Microbiol. 64:2449-2453.
- 29. Louws, F. J., D. W. Fulbright, C. T. Stephens, and F. J. de Bruijn. 1994. Specific genomic fingerprints of phytopathogenic Xanthomonas and Pseudomonas pathovars and strains generated with repetitive sequences and PCR. Appl. Envir. Microbiol. 60:2286-2295.
- 30. Lupski, J. R., and G. M, Weinstock. 1992. Short, interspersed repetitive DNA sequences in prokaryotic genomes. J. Bacteriol. 174:4525-4529.
- 31. May, A. K., R. G. Sawer, T. Gleason, A. Whitworth, and T. L. Pruett. 1996. In vivo cytokine response to *Escherichia coli* alpha-hemolysin determined with genetically engineered hemolytic and nonhemolytic *E. coli* variants. Infect. Immun. 64:2167-2171.

- 32. McCullough, M. J., K. V. Clemons, J. H. McCusker, and D. A. Stevens. 1998. Intergenic transcribed spacer PCR ribotyping for differentiation of *Saccharomyces dpecies* and interspecific hybrids. J. Clin. Microbiol. 36:1035-1038.
- 33. Menestrina, G., C. Pederzolli, S. M. Dalla, M. Bregante, and F. Gambale. 1996. Permeability increase induced by *Escherichia coli* hemolysin a in human macrophages is due to the formation of ionic pores: a patch clamp characterization. J. Membra. Biol. 149:113-121.
- 34. Moaslow, J., and M. E. Mulligan. 1996. Epidemiological typing systems. Infect. Control Hosp. Epidemol. 17:595-604.
- 35. Morabito, S., H. Karch, P. Mariani-Kurkdjian, H. Schmidt, F. Minelli, E. Bingen, and A. Caprioli. 1999. Enteroaggregative, shiga toxin- producing *Escherichia coli* 0111:H2 associated with an outbreak of hemolytic-uremic syndrome. J. Clin. Microbiol. 36:840-842.

- 36. Nick, G., and K. Lindstrom. Use of repetitive sequence and the polymerase chain reaction to fingerprint the genomic DNA of *Rhizobium galegegae* strains and to identify the DNA obtained by sonicating the liquid cultures and root nodules. Syst. Appl. Microbiol. 17:265-273.
- 37. Obrig, Tom G. 1997. Shiga toxin mode of action in Escherichia coli 0157:H7 disease. Frontiers in Bioscience. 2:625-642.
- 38. Pacheco, A. B. F., K. C. Soares, D. F. de Almeida, G. I. Viboud, N. Binsztein, and L. C. S. Ferreira. 1998. Clonal nature of enterotoxigenic *Escherichia coli* serotype 06:H16 revealed by randomly amplified polymorphic DNA analysis. J. Clin. Microbiol. 36:2099-2102.
- 39. Paton, A. W., and J. C. Paton. 1998. Detection and characterization of shiga toxigenic Escherichia coli by using multiplex PCR assays for stx1, stx2, eaeA, enterohemorrhagic E. coli hlyA, rfb₀₁₁, and rfb₀₁₅. J. Clin. Microbiol. 36:598-602.

- 40. Pélandakis, M., J. F. De Jonckheere, and P. Pernin. 1998. Genetic variation in the free-living amoeba Naegleria fowleri. Appl. Envir. Microbiol. 64:2977-2981.
- 41. Pellett, S. and R. A. Welch. 1996. Escherichia coli hemolysin mutants with altered target cell specificity. Infect. Immun. 64:3081-3087.
- 42. Perna, N. T., G. F. Mayhew, G. Pósfai, S. Elliott, M. S. Donnenberg, J.s B. Kaper, and F. R. Blattner. 1998. Molecular evolution of a pathogenicity island from enterohemorrhagic *Escherichia coli* 0157:H7. Infect. Immun. 66:3810-3817.
- 43. Radford, S. A., E. M. Johnson, J. P. Leeming, M. R. Millar, J. M. Cornish, A. B. M. Foot, and D. W. Warnock. 1998. Molecular epidemiological study of *Aspergillus fumigatus* in a bone marrow transplaction unit by PCR amplification of ribosomal intergenic spacer sequences. J. Clin. Microbiol. 36:1294-1299.
- 44. Rasmussen, U., and M. M. Svenning. 1998. Fingerprinting of cyanobacteria based on PCR with primers derived from short and long randomly repeated repetitive sequences. Appl. Envir. Microbiol. 64:265-272.

- 45. Reingold, J., N. Starr, J. Maurer, M. D. Lee. 1999. Identification of a new *Escherichia coli* she haemolysin homology in avian *E. coli*. Vet. Microbiol. 66:125-34.
- 46. Rodriguez-Barradas, M. C., R. J. Hamill, E. D. Houston, P. R. Georghiou, J. E. Clarridge, R. L. Regnery, and J. E. Koehler. 1995. Genomic fingerprinting of *Bartonella* species by repetitive element PCR for distinguishing species and isolates. J. Clin. Microbiol. **33**:1089-1093.
- 47. Sambrook, Joseph, Fritsch T. Maniatis. 1987. Molecular cloning. A laboratory manual. 2ed edition. Cold Spring Harbor Laboratory Press. US.
- 48. Tauxe, R. V. 1997. Emerging foodborne diseases: an evolving public health challenge. Emerg. Infect. Dis. 3:425-434.
- 49. Thompson, C. J., C. Daly, T. J. Barrett, J. P. Getchell, M. J. R. Gilchrist, and M. J. Loeffelholz. 1998. Insertion element IS3-based PCR method for subtyping *Escherichia coli* 0157:H7. J. Clin. Microbiol. 36:1180-1184.

- 50. van Belkum, A., W. van Leeuwen, M. E.h Kaufmann, B. Cookson, F. Forey, J. Etienne, R. Goering, F. Tenover, C. Steward, F. O'Brien, W. Grubb, P. Tassios, N. Legakis, A. Morvan, N. El Solh, R. de Ryck, M. Struelens, S. Salmenlinna, J. Vuopio-Varkila, M. Kooistra, A. Talens, W. Witte, and H. Verbrugh. 1998. Assessment of resolution and intercenter reproducibility of Results of Genotyping *Staphylococcus aureus* by pulsed-field gel electrophoresis of *SmaI* macrorestriction fragments: a multicenter study. J. Clin. Microbiol. **36**:1653-1659.
- 51. Vinuesa, P., J. L. W. Rademaker, F. J. de Bruijn, and D. Werner. 1998. Genotypic characterization of *Bradyrhizobium* strains nodulating endemic woody legumes of the canary islands by PCR-restriction fragment length polymorphism analysis of genes encoding 16S rRNA (16S rDNA) and 16S-23S rDNA intergenic spacers, repetitive extragenic palindromic PCR genomic fingerprinting, and partial 16S rDNA sequencing. Appl. Envir. Microbiol. 64:2096-2104.

- 52. Voss, E., A. W. Paton, P. A. Manning, and J. C. Paton. 1998. Molecular analysis of shiga toxigenic *Escherichia coli* 0111:H- proteins which react with sera from patients with hemolytic-uremic syndrome. Infect. Immun. 66:1467-1472.
- 53. Wang, G., A. P. van Dam, L. Spanjaard, and J. Dankert. 1998. Molecular typing of *Borrelia burgdorferi* sensu lato by randomly amplified polymorphic DNA fingerprinting analysis. J. Clin. Microbiol. 36:768-776.
- 54. Warner, J. M. W and J. D. Oliver. 1998. Randomly amplified polymorphic DNA analysis of starved and viable but nonculturable *Vibrio vulnificus* cells Appl. Envir. Microbiol. **64**:3025-3028.
- 55. Widmer, F., R. J. Seidler, P. M. Gillevet, L. S. Watrud, and G. D. Di Giovanni. 1998. A highly selective PCR protocol for detecting 16S rRNA genes of the genus *Pseudomonas* (sensu stricto) in environmental samples. Appl. Envir. Microbiol. 64:2545-2553.

56. Wieler, L. H., A. Schwanitz, E. Vieler, B. Busse, H. Steinrück, J. B. Kaper, and G. Baljer. 1998. Virulence properties of shiga toxin-producing *Escherichia coli* (STEC) strains of serogroup O118, a major group of STEC pathogens in calves. J. Clin. Microbiol. 36:1604-1607.

Signature of Graduate Student

Signature of Moior Advisor

I, Tseng, Ching Wen , hereby submit this thesis to Emporia State university as partial fulfillment of the requirements for an advanced degree. I agree that the library of the University may make it available to use in accordance with its regulations governing materials of this type. I further agree that quoting, photocopying, or other reproduction of this document is allowed for private study, scholarship (including teaching) and research purposes of a nonprofit nature. No copying which involves potential financial gain will be allowed without written permission of the author.

Signature of Author

<u>8/2/99</u>

Genetic variability of Escherichia coli 0157:H7

Title of Thesis

Signature of Graduate Office Staff

Date Received

Û